UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN MILLIMETERS

WEIGHT ARE IN KILOGRAMM

PART NUMBER / DWG NO.:

VL56

NAME SIGNATURE DATE REVISION
DRAWN E:Reispere 31.10.2022 DESCRIPTION:
APPV'D Sprlng SWiﬂg RABBIT
L3 "
T-'lf' H H oo MATERIAL: -
Ch Tiptiptap metal, plastic A4
WEIGHT: | SCALE: 1:20 SHEET 1 OF 9




safety area

) )
S
& = o
V—)O N
O <
Y
)
. 1200 _ . 1200
™
N 3
M 0
1
A
Q
'\q/Q /p/VjO
< o O
(@)
AN
Y Y
- 2750
UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:
WEGHT ARE IN KLOGRAMM VL56
NAME SIGNATURE DATE REVISION
DRAWN E:Reispere 31.10.2022 DESCRIPTION:
APPV'D)| Sprlng SWiﬂg RABBIT
"'?IF, T H t' t a1 MATERIAL: .
TI:PP Ipuptap metal, plastic A4
WEIGHT: | SCALE: 1:20 SHEET 2 OF 9




foundation

3243

1520

2750

1

Y

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM

PART NUMBER / DWG NO.:

VL56

NAME SIGNATURE DATE

REVISION

DRAWN E:Reispere 31.10.2022

APPV'D|

DESCRIPTION:

Spring swing RABBIT

L]

i Tiptiptap™

MATERIAL:

metal, plastic

A4

WEIGHT: | SCALE: 1:20

SHEET3 OF 9




dimensions

935

ground

843

1 _ _ -
concre’re\/_/

300

® 500

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN MILLIMETERS

WEIGHT ARE IN KILOGRAMM

PART NUMBER / DWG NO.:

VL56

NAME SIGNATURE DATE REVISION
DRAWN  E:Reispere 31.10.2022 DESCRIPTION:
APPVD Spring swing RABBIT
‘o . . . :
;{é’ Ti ptl ptapo” o metal, plastic A4
WEIGHT: | SCALE: 1:10 SHEET 4 OF 9




C > ITEM NO. PART NUMBER
N 1 ground fixing
2 spring with spring disk
3 central console
4 VL56 head panel
5 seat for spring swing
6 VL56 tail panel
7 handle new
8 leg support n
DIMENSIONS ARE N VHLLMETERS PART NUMBER / DWG NO.:
WEIGHT ARE IN KILOGRAMM V |_5 6
NAME SIGNATURE DATE REVISION
DRAWN E:Reispere 31.10.2022 DESCRIPTION:
APPV'D| Spnng SWiﬂg RABBIT
1A . = o MATERIAL:
;;#PP Tlptl ptap metal, plastic A4
WEIGHT: | SCALE: 1:10 SHEET 5 OF 9




ITEM NO. PART NUMBER DESCRIPTION QTY.
1 spring painted steel 1
2 distance block HP plastic
3 spring plate painted steel
DIMEENSIONS ARE I MILLIMETERS PARTNUMBER / DWG NO::
WEIGHT ARE IN KILOGRAMM V |_5 6
NAME SIGNATURE DATE REVISION
DRAWN E:Reispere 31.10.2022 DESCRIPTION:
APPVD Sprlng SWiﬂg RABBIT
flp' 1 H o MATERIAL: i
T;#PP Tlptl ptap metal, plastic A4
WEIGHT: | SCALE: 1:4 SHEET 6 OF 9




distance block

view 1

spring plate

distance block

spring

distance block

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM

PART NUMBER / DWG NO.:

VL56

NAME SIGNATURE DATE REVISION
DRAWN|  E:Reispere 31.10.2022 DESCRIPTION:
APPVD) Spring swing RABBIT
f-'lf' Ti ti t a ol MATERIAL: ]
Ch ptuplap metal, plastic A4
WEIGHT: | SCALE: 1:4 SHEET 7 OF ¢




Uz
ITEM NO. PART NUMBER
1 central console
2 spring with spring disk
3 ground fixing
4 bolt DIN603 M10x35
5 nut DIN985 M10
UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM VL56
NAME SIGNATURE DATE REVISION
DRAWN E:Reispere 31.10.2022 DESCRIPTION:
APPV'D Sprlng SWiﬂg RABBIT
P, . = o MATERIAL:
;;#PP Ti ptl ptap metal, plastic A4
WEIGHT: | SCALE: 1:10 SHEET 8 OF 9




ITEM NO.

PART NUMBER

VL56 head panel

seat for spring swing

VL56 tail panel

nut cover M8

bolt DIN933 M8x40

nut DIN985 M8

nut cover cap M8

leg support new

bolt M12x305 DIN931

nut DIN985 M12

leg support n cover cup

handle new

polt M10x185 DIN931

washer M10 DINT25

SlxloISIZIale|o Njo o |n|w| o] —

nut DIN985 M10

16

handle new cup

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN MILLIMETERS

WEIGHT ARE IN KILOGRAMM

NAME

SIGNATURE DATE REVISION

PART NUMBER / DWG NO.:

VL56

DRAWN

E:Reispere

31.10.2022

APPV'D|

ia  Tiptiptap™

DESCRIPTION:

Spring swing RABBIT

MATERIAL:

metal, plastic

A4

WEIGHT: | SCALE: 1:10

SHEET 9 OF 9




	Sheet1
	Drawing View1

	Sheet2
	Drawing View2

	Sheet3
	Drawing View3

	Sheet4
	Drawing View5
	Drawing View6
	Drawing View7

	Sheet5
	Drawing View8

	Sheet2(3)(2)(2)(2)
	Drawing View29

	Sheet3(2)(2)(2)(2)
	Drawing View30
	Detail View A (1 : 2)
	Drawing View32
	Drawing View33
	Drawing View34
	Drawing View35
	Detail View D (1 : 2)
	Drawing View37
	Drawing View38

	Sheet8(2)(2)(2)
	Drawing View39

	Sheet6
	Drawing View40


